Seminar 4. tyden, goniometrické vyrazy a rovnice
Priklad 1: Vypoctéte:
a) sin 330° — cos 210° + tg150° — Lcotgd5® [ — 1]

b) sin 660° — cos 585° + cotgd95° + Ltg780° [—L2 — 1]

¢) cosz,tgz, cotgz, jestlize sinx = —3 a x € (270°,360°) [3;—3; —3
Priklad 2: Zjednoduste

a) sin(30° + ) + sin(30° — ) [cos z]

b) cos(45° + x) — cos(45° — x) [—v/2sin ]

¢) L[] _cosx, x # (2k+ 1)7]

1+coszx

Priklad 3: V mnoziné R feSte rovnice

a) tg’r = —tgzx, [{0+km, k€ Z} U {3+ knm, k € Z}]

b) V3tg’x +2tgr — V3 =0, [{7/6+ kr, k € Z} U {31 + km, k € Z}]
¢) tgr — cotgr — \% =0, {n/3+km, ke ZYyU{3n +km, ke Z}]

d) cos2z = cos? 2z, [{0+knm, k€ Z} U{—m/4+ kr/2, k € Z}]

¢) sin2z —cosx =0, {—n/2+kr, k€ Z} U{3n + 2knm, k € Z} U{r/6 + 2k, k € Z}]



